asym_usl

asym_dsl

asym_usr

asym_dsr

run6625 000 regression-asym main

15000
" —{30C
10000
- —a5(
5000 [
- 20(
of
- 150
-5000 |-
100
10000
i 50
15000 -
_|||||||||||||||||||||||||||II|IIII|IIII|II D
40 -30 -20 -10 0 10 20 30 40
diff_bpmXum
d.
1500 — —anc
1000 | —a5¢
500 | 200
0 15(
-500 | 100
1000 50
i -
_.15[:”:'_|||||||||||||||||II|||||||||||||II|IIII|II D
40 -30 -20 -10 0 10 20 30 40
difi _bpm1Xum
difL
8000 [ B —30
6000 [
- —a5(
4000 [
2000 20
[ m
o
" 150
-2000 |- -
4000 |- 100
000 — mm 1.
" 50
-8000 |
O b b b beeoa e b b o L o
40 -30 -20 -10 0 10 20 30 40
diff_bpm1Xum
d.
1500 |
" —se(
1000 |
—2n0
500 —
: 15
o
-300 100
1000 |
. 50
1500 |
-|||||IIII|IIII|IIII ||||||||||||II|IIII|II

=30

-2{)

A0

- 300
15000 [
N —25¢
10000
5000 —20(
o 15(
~5000 |-
- 100
10000
- 50
15000 B
N [
_I 1 111 I 1111 | 1111 | 1111 | 1111 | 1 111 | 1 1 0
30 -20 -10 0 10 20 30
diff_bpmda'ium
diff
1500 |-
- —a5g
1000 -
500 —200
ol 150
500 - 10
1000 50
i O
_.15[:”:' _I L1 11 I L1 11 | L1 11 | I | | L1 1 1 | 1111 | 11 ﬂ
30 -20 10 0 10 20 30
diff_bpmda'ium
d'
8000
6000 |- —25(
4000 [
N — 20
2000
ok 15(
~2000 |-
N 100
~4000
6000 [ 0
~B000 |-
v b b b B g b P 0
30 -20 -10 0 10 20 30
diff_bpmda'ium
d'
1500 [~ .
1000 |
- —200
500
N 150
o
_5,[;.[;.:— 100
1000
. 50
1500 |- R
I 1 111 I 1111 | 1 | 1 1 | 111 IJ_LI 1 1 | 1 111 | 1 1

-30 -2{) 10 ®

det-vs diff bpms=

15000 | O P
10000 —25(
5000 ;I . oo
o
C 150
~5000 | .
- 100
10000 |
[ 50
15000 u
N [ ]
_I | | 1111 | L1 11 I L 111 | L1 11 | L 111 | L1 11 I L 111 ﬂ
30 -20 -10 O 10 20 30 40
difi_bpmdeX/um
d .
1500 [~
: b . —ogg
1000
B |
[ —apc
B
500
. g
i u 15
ﬂ L
R 100
-500 | "
1000 F 50
i -
—1EDD _I | | L1l 11 | L1l 11 I L1111 | L1 11 | L1111 | L1 11 I L1111 ﬂ
3D -20  -10 0 10 20 30 4D
diff _bpmdaX/um
d .
N —anc
8000
6000 [ -
4000 [
_ —20(
2000 [
:_ m
Ofm 15¢
~2000 |- -
[ 100
-4000 |
C |
~g000 Hmm
N 50
N |
~8000 |- 'y -
ool vty o b b e b b 0
a0 -20 10 O 10 20 30 40
difi_bpmdeX/um
d .
—ogg
1500
1000 —20(

500

- 500

=1000

=1500

diff_bpmdeY

15000 —{a5¢
10000 |- —{30(
5000 |- —{25¢
C |
- W
of 20(
[ mm
5000 [~ 150
10000 | 10
15000 | m 50
N u
_l 1 111 | 1 111 | 11 11 I 1 1 11 I 111 1 | 1 111 | 11 D
30 -20 -10 O 0 20 30
diff_bpmdaYium
d.
1500 |-
1000 |-
- —25(
500 [
i 20(
of -:
_ u 15(
-0 100
5 |
~1000 |- 54
: n -
_.15[:“:' _l L1 11 | L1 11 | L1 11 I L1 11 I L1 11 | L1 11 | 11 D
30 -20 -10 O 0 20 30
diff_bpmdaYium
diff_bpmdeY
8000 |
- —30(
6000 [ -
4000 [ —{25¢
2000
T u 200
o
-2000 |- 15t
~4000 [~ 100
~6000 |-
- 50
-8000 |-
v v by b bvvra by by aa L o
30 -20 -10 0 0 20 30
diff_bpmdaY/um
diff _ hpméle Y
1500 [
- —25(
1000 |
- = — 200
S00
I
of m B
500 - .
TE 100
~1000
: 50
~1500 |-
ll 111 | 1 111 | 11 11 I 1 1 11 I 111 1 | 1 111 | 11

10000

5000

=5000

10000

15000

—35(

25(

200

150

100

| | 1 111 | 1 111 I 1 111 | 11 11 | 11 11 | 1 ﬂ
~100 =50 0 50 100 150
diff_bpm12X/um

diff

1500

1000

200

- 500

=1000

=1500

= 2000

~4000

= 6000

~8000

—35(

—25(

200

15(

100

II|IIII|IIII|IIII|IIII|IIII|I 0

=100 -50 1] 50 100 150
diff_bpm1 2X/um

300

201

[ ] 100

trlv v v bvr e bvr v brv o a I 0

~100 =50 0 50 100 150
diff_bpm12X/um

91

1000

500

- 500

=1000

=1500

1.7Z postpan.png

—25(

200

15(

100

clv e b b P v a1 0
—‘H}D -50 1] 50 100 150
diff_bpm12X/um



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

10000 | g
5000 [ —a00
o 15(
5000
| 100
10000
— 50
i m
15000_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II D
40 -30 -20 -10 O 10 20 30 40
diff_bpmXum
1500 = —30L
1000 o5
500 - —20¢
ok 15¢
_5po 100
1000 50
i -
_15[:”:'_IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II D
40 -30 -20 10 O 10 20 30 4D
difi _bpm1Xum
difL
4000 —a5(
2000 —apr
ok 150
i 10(
-2000
- 50
-4000
I EE
con e b b b b e e b o
40 -30 -20 -10 O 10 20 30 40
diff_bpm1Xum
d '
1500 |
- —25(
1000 |
- —200
EHD:-
ﬂ:_ 150
-300 - 10(
1000 |
. 50
1500 |
-IIII|IIII|IIII|IIII IIII|IIII|IIII|IIII|II

run6625 000 resres:

[ —|=5¢
10000
i —20(
5000 —
of 15¢
5000 100
10000 [ 50
15[:”:'0 —I | | I L1 11 | || | || | | | | L1 11 | L1 {'

30 -20 10 0 10 20 a0
diff_bpmda¥ium

1500 N
- am”®
B —25(
1000 —
B —{ 200
EDD:-
R |
o 0 150
=500 — 100
I -
1000 50
B -
_1EDD_||||||||||||||||||||||||||||||||| 0
=30 20 =10 (1] 10 20 b
difi_bpmda¥ium
. | N | e
4000
i —{ 200
2000 —
B 15
ok |
| [ |
B 10(
2000 —
B 50
=4000 _— -
] n m
Povvv bvvv v bvv v by e bvvra bvvra b 0
~30 20 =10 (1] 10 20 b
difi_bomdaYium
d.
1500 [
B —25(
1000 |
- —20
EHD:-
1]:— 15
=500 - 10(
1000
| 50
1500 |- R
||||| |||||||_|_||||||||||||||||||

oressionr-reg maindet-vs diff

| I
: —o5(
10000 [~
s000 - —{20c
m
ol 15¢
5000 :— 100
10000 - -
L [ | ..
1EDDD _I | 1111 | L1 11 I L 111 | L1 11 | L 111 | L1 11 I L 111 ﬂ
30  -20 -10 0 10 20 30 40
diff_bpmdaX/um
d .
1500
- —{o5¢
- A" -
1000
- .' —{20c
B
s00 |-
. "
- - 15¢
[' L
. Ll BT
—EQD:'
_1000 50
K -
—15':":' _I | | L1 11 | L1 11 I L 111 | L1 11 | L 111 | L1 11 I L 111 ﬂ
30 -20 -10 0 0 20 30 40
diff_bpmdaXium
diff bpmd4eX
B s = —ogr
4000
—{20c
2000

150

100
=2000

~4000

NI NN NI NNl NN EEEE 0

30 -20 -10 O 10 20 30 40
diff _bpmdeX/um

diff

1500

—25(

1000

500

"

- 500

=1000

=1500

=
—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

J_IlIIIIIIIII|IIII|III

“bpm-

: 3¢
10000 [~
- —|35¢
so00 -
- —2p0
B [ |
ﬂ L
- . 15(
B ]
_5000
- 100
10000
: 50
15[:“:":' —l L1 11 | L1111 | || I L1 11 I L1 11 | L 111 | 1 D
30 -20 -10 0 o 20 30
difi_bpm4a¥ium
d .
1500 |-
1000 |
§ —|a5¢
500
- 201
0 [
i u 150
=500 = 100
1000 | 50
i u -
_ .1 EDD i | L L1 | L1111 | L1 11 I L 111 I L1111 | L 111 | 1 D
aD 20 10 D o 20 30

diff_bpmday/um

diff_bpmdeY

4000 —
B —25(
2000 -
| —|20(
| =
ol = m
R 15(
=2000 — 100
B 50
-4'[?0[]_ -
| m m
Lovvr bvvr b bvvvan bvvva brvra b o
~30 =20 =10 1] 10 20 a0
difi_bpmda¥ium
diff_bpmdeY
B —
1500 [
—25¢
1000 |
r = — 200
E-I}EI_—
I |
o m . 15(
- m
=500
- - 100
~1000
- 50
1500 |- N -
Clo v bvv v bvr v bvvnr bvvv s bv i b

-30 =20

- postpan:png

B —asc
10000 |- —{ant
5000 - —{o5¢
B 200

o
- 15(

5000
i 1€

10000 |-

- 50
15000 -
| | | I | | | I | I | I | | L1 11 | L1 11 | 1 ﬂ

~100 =50 0 50 100 150
diff_bpm12X/um

d'
a5

1500 - B
i — 300
1000
§ —|ogr
SO0 N
- 200
b m
[ 15(
B (|
_500
- u 100
~1000 50
_.15|:|n _I | | L1 11 | L1 11 I L1 11 | L1 11 | L1l 11 | 1 ﬂ
100 50 ) 50 100 150
diff_bpm12X/um
diff_ bpm12X
4000 | —a0c
i n
- —{z5¢
2000
i 200
D_
] 15(
~2000
I 100
-4000 50
i Em
TN A e N 0
100 50 ) 50 100 150
diff_bpm12X/um
d.
1500 [~ _ape
1000 |—
- —{z5¢
500
0 200
of
0 - 15(
500 :—
- 100
1000
[ 50
~1500 :—
B | | I | | | I | I | I | | L1 11 | L1 11 | 1 ﬂ

- ‘H}D -50 1] 50 100 150
diff_bpm12X/um



asym_usl

asym_dsl

asym_usr

asym_dsr

run6625 000 resression asym main

ol ml
W

~6000 —

~B00D 1—IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

(;!thhpmlx

2 | ndf 32.44 /36
6000 |
p0 33.99 + 20.68
a000 -

p1 —-69.38 £ 2.88

diff_bpmdaY

¥2 / ndf 45.59 /40 }

e
ma R

40 -30 <20 10 O 10 20 30 40

diff_bpm1X

p0 32.82 £ 20.86 }

el

2 | ndl 202/ 36

a0 -

i po -1.021+1.919
500 o1 —0.002227 + 0.268955

Lt HW l +

o HH’ st

=200 _—
400

diff_ bpm1X

2 / ndf 25.55 / 36 |
po 6.534 + 10.746 } J
+

p 70.42 + 151 ot

I y
2000 — *W-}

4000

-6000 [~ 7

T +/W}

ovvabwrna v b b bvvra bvran bvraa o
=30 =20 =10 1] 10 20 b 40

p1 34 .56 + 3.39
OO0 _
: H + |
o | e Foon

o} 1
il

-6000 —

—2000 || *
-:mnnf—
000 B Ll b L b L
=30 =20 =10 0 10 20 30
dlthpmélaY
} %2/ ndf 37.44 [ 40
E”':'_" + ’ p0  -0.6937 = 1.9117

\

-0.3141£0.3110

I 11 p1
I e
-Eﬂlﬂ:— h

~600 _
| | | 11 | | |
a0 20 10 0 10 20 a0
%2 / ndf 4E 34 /40

p0 5.138 + 11.024

p1 61.73+ 1.76 H )

=2000 ;— I-'-|_+]l

-4000 — {

diff_bpm1X

400 1=/ ndf 31.59 /36
00 ;— p0 1.398 £ 2.303
200 = p1 -0.3013 £ 0.3197

" ]

-300 :—

400 [

10 20

.I.
40

~1000 [~

I ++# }
“_ ! &M fﬂm

=30 =20 =10 0 10 20 a0

6000 |- ¥*/ndf  39.68/36

4000 - po 345 1207

2000 |- ’Wﬁl{l pt -66.11+2.97
bt

el

=30 =20 =10 1] 10 20 a0 40

diff_bpmdeX

E-DD—

% [ ndf 273736
po -0.8721£1.9221

-0.1181£ 0.2789

m.:.;— M p1

200

SN HiJ'-
“‘W P'ﬁwwﬁﬁﬂﬁw +‘|' |

_2p0 |

400 —

dlthpméﬁL

%2 / ndf 33.18/ 36

p0 7.383 £ 10.661 ]L

pi 79.43 £1.55 HH{LW\
i

e
4000 _ h)

—E-DDD_"'l'"'I""l'"'l""l""l""l""l'

diff_bpmday

BOO w2 [ ndf 39.43 / 40

400 _—

- po 0.5308 £ 2.2975
200 —
- —-0.5622 £ 0.3693

’V fieemensy ”

=
|
e
' 1

Tl

400

600 |

800 |

~1200
IIIIIIIIIIlIIIIlIIIIJ_LIII|IIII|II

dei*vs diff bom:

=30 =20 =10 1] 10 20 a0 40

diff_bpmdeX

7= | ndf 22.67 /36
8O0
B p0 1.634 £ 2.306
600 —
p1 -0.2157 £ 0.3307
400 ~

-EEID —

i

diff_bpmdeY

¥2 / ndf 27.81 /33

pO 29.81+ 20.88

T
e

p1 46.8+3.9

| |

P #HW

8000 £~ 1 ¥2 / ndf 18.56 / 31
6000 *;{ PO 17.8 + 195
4000 HJ
- ++ p1 -50.41 + 0.89
2000 |
o

F_

000 ' {
3000
-4{}[][];1—||||||||||||||||||||||||||||||||||
=30 =2 =10 0 10 20 30
d.].{;llj— — I
72/ ndf 23.41 733
Em'_ ] p0  —0.7189 = 1.9154
B { p1 -0.3202 £ 0.3577
o i |Hl| L#ﬁhﬁ%wplq—m ]LT ]HW
=200 - 1]
400
'E{}D|_||||||||||||||||||||||||||||||||||
a0 2 10 (1] 10 20 BLTH

diff_bpmdeY _

%2 / ndf 33.26 /33
p0  2.088 + 10.951 k
pl 78.34 £ 2.05
-H- -
: X
ﬂ_ -
I Hw )
i [ ft
2000 r
4000 |- {“
—E-DDU;-ll_llllllllllllll""llllllllllllll
=30 =2 =10 1] 10 20 a0
%</ ndf 31.19/33
E.I} -
B p0 1.043 £ 2.300
4{?0_—

~6000 |- |
~8000 |- i
H 1 1 I 1 1 11 | 1 1 1 1 | 1111 | 1 111 | 1 11 1 | 1
=100 =50 o 50 100 150
diff bpmli2X
2 | ndf 39.38 / 31
p0 ~0.4306 + 1.9168
pi 0.01629 + 0.08687 | | ]
ok + |
_s00 | 1
- 400 :— i
=G00 u
1 1 1 I | I | | L1 11 | L1 11 | 1 1 11 | | I | | 1
=100 =50 ] 5 100 150
diff
6000 | +‘ L ¥2 / ndf 27.63/ 31
[ t
4000 Wﬁt&* p0 -5.218 + 7.641
2000 | p1 -53.95 + 0.34
of
~2000 |-
~4000 |- ﬂﬂ#q{
- H t o
~6000 - +
-8000 [~ | | | | H |
=100 =5 1] 50 100 150
¥2 | ndf T 39.47/31
po 1.243 + 2.300
Pl 0.1404 +0.1047 H

son bl ]lw p1 ~0.9389 + 0.4251
; 1 i

- it

—E{?DE— {

400 —

=600

-||IIII|IIII|IIII|IIII|IIII|IIII|III

it postpan.png

2N |H
[

W
i

=B00 N

+ -
-IIIIIIII|IIII|IIII|IIII|IIII|I

=100 -o0 1] 50 100 150




diff_bpm1X  diff bpmdaY diff_bpmdeX diff_bpmdeY diff_bpm12X

e | ndf 36.12 / 36 ¥Z [ ndf 37.46 [/ 40 %2/ ndf 35.08 / 36 ¥2 / ndf 30.41 /33 i %2 | ndf 16.57 / 31
p0 27.4+19.2 p0 24.37 £19.08 p0 27.43 + 1919 p0 22.24 +19.13 6000 [ p0 13.95 £ 19.16
p1 1.149 £ 2.653 { * ' | p1 1.867 £ 3.100 H p1 0.9357 + 2.7348 } p1 2.18 £3.58 4000 p1 -0.376 + 0.875
- '_htm_w.,yﬁw 1 J’ ¥ o 00 A [ -
oF | HH : A MI ] 1000 |- o | |H i ﬁ"' ?'h'm'ﬁ””hﬂluu ' I | - |
: f * [ | + _ X Il . } _ 2000 |- J I
l ~1000 i o 11 b ' “1000 ' i f _ i | { iliaE
reg_asym_us | Rl ++” : : oF 1l {1 | i il
— — ~2000 |- ) - - - i = W
- ~1000 [ | } ' ~2000 | | - I { { 1
-3000 | _ - - - . - +
- N N ~2000 _ _
- ~2000 - 3000 | I 2000
4000 N - ' f
_EDDD:IIII|_IIII|IIII|IIII|IIII|IIII|IIII|IIII|II _EH}DD:_IllllllllllllII|IIII|IIII|III__I|II _WDD__III|IIIIIIIIIlIIII|IIII|IIII|IIII|IIII|I _WDD-I_IlllllllllllllllIIII|IIII|II-II|III _mnn_l_lllllllllllllllll|IIII|IIII|I
40 -30 -20 -10 0O 10 20 30 4D “ap =20 <10 0 10 20 30 a0 =20 -10 0 10 20 30 40 “ap =20 10 0 10 20 30 ~100 =50 0 50) 100 150
diff bpmlX  diff bpmd4aY dlthpB]élﬁX diff bpmdeY  dif_bpml12X
%2 | ndf 20.15/ 36 %2 ndf 37.25/40 ¥2 ! ndi 27.7 /36 ¥ [ ndf 23.32/33 s00 = %2 | ndf 39.38 / 31
800 - i
p0 -1.093+£1.918 po -0.7637 £ 1.9110 - pO —0.945 + 1.921 p0 -0.79 £ 1.9 400 i p0 —.4949 + 1.9160
p1 0.04087 £ 0.26874 p1 0.2539 £ 0.3109 + F } 400 _ p1 —0.05894 + 027859 p1 0.25585 + 0.3575 { - B p1 —0.01718 £ 0.0B682
| - - F“‘'""“"”l"l'l:}'HHJr } - i {| - 200 |-
F ‘| Il { ) i } o {H'W | 1
E{INTY: H I - } 200 H| [ *”'{ : £ MHH + |
IS | e pm————tr g ] 200 i S - | (U
reg_asym_ds s iy I : | i .- :
— — - | ﬂ__ . H‘\M{' {» B =200 1
_ } 1T - [
- 400 - i
200 — R - i - |t
- S -200 - | ~400 - ] ~ 400 N
i _go0 [ i -
~400 — - i - A0 _ i 600 —
-I-IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II _IIIIIIIIII|IIII|IIII|IIII|IIII|II TIII|IIIIIIIII|IIII|IIII|IIII|IIII|IIII|I _E.DDI_IlllllllllllllllIIII|IIII|IIII|III _IIIIIIII|IIII|IIII|IIII|IIII|I
40 -30 -20 -10 O 10 20 30 4D an 20 10 0 10 20 30 A 20 -10 0 10 20 30 40 ap 20 100 0 10 20 30 100 50 0 50 100 150
12 [ ndf 25 36 / 36 | 1</ ndf 42 52 /40 72 ndf 32 92 / 36 %2 / ndf 23 72133 %2 / ndf 25 59/ 31
po -1.052 £ 6.727 } p0 -0.6447 £ 6.7112 po -0.2669 £ 6.7419 p0 -1.248 + B.738 ] p0 -2.947 + 6.737
Pl 0.7829 £ 0.9340 } W p1 1.216 £ 1.075 pi 0.8212 £ 0.9696 ]L * p1 1.731 £ 1.254 _ p1 0.1221+ 0.3043
: ' SREEL I oF TRtz S0 -
°F WWMM F | H%w%ﬁ ' : H”H + f il ;
- t - H H—H i - o Fl++ + +{-|'|.|.|} o ol * HHJF Jr
-500 - ~500 - m _ - -
reg_asym_usr : | sl ] | I L (i
— — B C B - =500 — { B
~1000 | - [ 1000 - [ 1000
- 1000 |- |- n i ~1000 - i i
~1500 - ~1500 | - - i
5000 _ B ~1500 |- . - ~1500 — ~2000 :—
|||_||||||||||||||||||||||||||||||||||||||| :||||||||||||||||||||||||||||||||| _EDDDT_|||||||||||||||||||||||||||||||||||||_||| bl bbb b b rn i b :||||||||||||||||||||||||||||||
40 -30 -20 -10 O 10 20 30 4D ap 20 10 0 10 20 30 A 20 -10 0 10 20 30 40 ap 20 10 0 10 20 30 100 50 D 50 100 150
dlthmeX diff _"bpmd4aY dlthpll]élﬁX dlthpméleY dlthmeZX
400 %2 ndf 31.84 /36 600 [~ ¥* / ndf 39.12/ 40 800 %*  ndf 22.65 /36 ¥* / ndf 31.42/733 ¥2 / nd 40.38 / 31
u B gon &0n -
300 ;— po 1.329 £ 2.303 o } PO 0.4794 + 2.2970 : PO 1.56 + 2.31 po 0.9803 + 2.3000 - p0 1179 + 2.300
200 F- 200 } BO0 ™ 0 - 400 -
F - pi -0.1525 £ 0.3196 N 1 p1 —0.03531 + 0.36916 i pl —0.0559 £ 0.3305 E i pl —0.3521£ 0.4249 B o1 —~0.003505 + 0104641
100 ;— “~ -} | | | uE_ | ’Vwm{l' T '|' T H 400 __ 200 _— * I_ | 200 :_ } | i
of H H 4 it HHH e | . : o 1 R - E w att
: M a0k 200 C WNWW {H : u | pittrismtety b ||]L -

reg_asym_dsr w1 |

200 |

~300 ] C _200 -
- ~1000 | 2007

) e I

~BO0D — ~400 — | ~400 — }

mn:— BO0 [~ 600 -

=1200 — D

IIIIII 'IIIIIIlIIIIlIIIIIIIII|IIII|IIII|III _IIIIIIII|IIII|IIII|IIII|IIII|I

FUn6625 000 resrssion fes matndet ve diff Bomifit vostuan ona = o




asym_usl

asym_dsl

asym_usr

asym_dsr

ifL
15000 —

10000 —

5000

5000 [~
10000 —

15000

-40  -30 <20
ii
1500

1000 —

500 —

-500 —

=1000 —

=10

1]

10 20 30 40
diff_bpmXum

~1500 IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|II

-40  -30 =20

8000

6000 —

4000

2000 —

=2000 —

4000

6000 —

8000 [~

10

o

10 20 an 40
difi _bpm1Xum

-40  -30 <20

ifL
1500 —

1000 =

500

-500 —
1000 —

=1500

=10

1]

10 20 30 40
diff_bpm1Xum

run6625 000 resre

I'ESSIOH'" ASYIM maln

A0

15000

10000

5000

5000

10000

15000

1500

1000

500

=500

=1000

=1500

8000

6000

4000

2000

=2000

-4000

~6000

-8000 |

1500

1000

500

=500

=1000

=1500 -

diff_bpmda¥ium

diff_bpmda/um

diff_bpmda¥ium

-:m -21} -ml -I]

detvs diff

ifL
15000 =

10000

5000 —.

=5000 —
10000 =

15000

30 =20

1000 —

500

-500 —

=1000 —

0 0 10 20 30 40
diff _bpmdeX/um

Lol
=1800 30 —E-I}

8000 =
6000
4000

2000 —

ao00
~4000 |
~6000 [

8000 —

- 1 {:I D 10 20 30 40
diff_bpmdaX/um

30 =20

1500 —

1000 =

00

-500 —

=1000 —

=1500 —

0 0 10 20 30 40
diff _bpmdeX/um

IIJ_I 111 | II

“bpms=scat po

15000

10000

5000

= 5000

10000

15000

1500

1000

500

~500

= 1000

=1500

8000

6000

4000

2000

= 2000

=4000

= 6000

=B000

diff_bom4eY/um

-

diff_bpmday/um

1500

1000

500

-500

= 1000

~1500 |

diff_bpmdaY/um

—E{?

S

tpan PN

15000

10000

5000

=5000

10000

15000

1500

1000

200

- 500

=1000

=1500

8000

6000

4000

2000

= 2000

~4000

= 6000

~8000

1500

1000

500

- 500

=1000

=1500

~100 =50 0 50 100 150
diff_bpm12X/um

=100 -50 1] 50 100 150
diff_bpm1 2X/um

|
~100 =50 0 50 100 150
diff_bpm12X/um

- 100 -50 1] 50 100 150
diff_bpm12X/um



reg_asym_usl

reg_asym_dsl

reg_asym_usr

reg_asym_dsr

10000

5000

=5000 —

10000 —

15000 —

—40)

1

1500

1000 —

500 —

-500 —

=1000 —

=30 =20 =10 0 10 20 KiH 40
diff_bpmXum

~1500 .

4000

2000 —

2000 —

4000 —

30 =20 =10 0 10 20 a0 40
difi _bpm1Xum

1

1500 —

1000 =

500

-500 —

1000 —

=1500

=30 =20 =10 0 10 20 an 40
diff_bpm1Xum

run6625 000 resgres:

10000 |- 10000 |- 10000 |-
5000 - so00 - so00 -
o o b
5000 _s5p00 _5000
10000 |- 10000 | 10000 [
1EDDD—IIIIIIIIII|II|||||||||||||||||||| 1EDDDI_I|IIII|II II |||||||||||||||I| 1EDUD—|IIII|IIII|II||||||||||||||||||||
a0 -20 0 -10 0 10 20 30 TR T a— 10 20 30 40 30 -20 10 0 10 20 30
diff_bpmdaYium diff_bpmdaX/um diff_bpm4aYium
. . [hf ] l 2{ .
1500 |- — 1500 |- — 1500 |- —
1000 |- 1000 |- ' 1000 |- o
500 500 500 - ?
o ok ok
500 ~500 - -500 -
~1000 ~1000 | . 1000 |-
_.15[:”:' —1EDD_II|IIIIlIIIIIIIIIlIIIIlIIIIlIIIIII _1EDU_|I|||||||||||||||||||||||||||||||
30  -20 -10 O 10 20 30 40 30 -20 10 0 10 20 30
diff_bpmdaYium diff_bpmdeXium diff_bpm4aYium
. . ff .
4000 4000 4000 |-
2000 2000 |- 2000 |-
o ol ol
-2000 ~2000 - 2000
4000 “ _apon g - 4000
_||||||||||||||||||||||||||||||||| _|||||||||||||||||||||||||||||||||| _|||||||||||||||||||||||||||||||||
an -0 10 0 10 20 30 30 -20 -10 O 10 20 30 40 30 -20 10 0 10 20 30
diff_bpmdaYium diff_bpmdaX/um diff_bpmdaY/um
. . .
B — B — N
1500 [ 1500 | 1500 [
1000 | 1000 | 1000 |
500 500 | s00 |
of 0 o
500 :— 500 :— 500 —
1000 1000 | ~1000
~1500 |- ~1500 | ~1500 |-
_IIIIII ||||| _IIIJ_Il || || || II -||||||||||||||||||||||||||||||||

-2{) -10)

ressionr‘reg maindet-vs diff bpm-scat postpan.pne-

10000

5000

~5000

10000

15000

1500

1000

200

- 500

=1000

=1500

4000

2000

=2000

=4000

1500

1000

500

- 500

=1000

=1500

|
=100 -50 1] 50 100 150
diff_bpm12X/um

~100 =50 0 50 100 150
diff_bpm12X/um

|
=100 -50 1] 50 100 150
diff_bpm12X/um

- 100 -50 1] 50 100 150
diff_bpm12X/um



